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JEAL K 4 & = 6 5 st 6 5 2nd 6 5
1 RI§ 3 HRNNE7—F)—H= 300 9 19 163 bH 9 147 4 10
2 E EE HMRNNE7—F)—H= 293 11 17 144 6 5 149 5 12
3 /INR fE— ETEHT7 —F)—H= 281 12 12 139 6 7 142 6 b5
4 INU FEN EARRT—F )= 272 711 136 2 7 136 5 4
b EX EH FHE7—F)—H= 254 5 13 127 1 8 127 4 5
6 Il FE ETEHT7 —F)—H= 252 6 10 119 3 4 133 3 6
1 EER % ETEHT7 —F)—H= 238 1 9 120 1 4 118 0 b5
8 HP ETEHT7 —F)—H= 232 5 9 119 4 3 113 1 6
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10 B BB NEFHT7—F)—H= 220 3 10 108 1 3 117 2 7
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[ERiva K 4 & X 6 5 st 6 5 2nd 6 5
6 4H B ZEM7—F)—HE 254 5 9 138 1 8 121 4 1
7 ME BIX ZEM7—F)—HE 253 7 8 132 3 6 121 4 2
8 FEFAR & ETEHT7 —F)—H= 242 5 7 115 1 2 127 4 5
9 ZR# (2RI ETEHT7 —F)—H= 214 2 10 103 1 6 1M1 1 4
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[ERiva K 4 & X 6 5 st 6 5 2nd 6 5
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2 E HBY ETEHMT7 —Fz)—Hs 234 5 9 113 1 4 121 4 5
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5 ARH FEHFHEHEAAXRT7—FI)—Hs 209 4 3 110 1 1 99 3 2
CPE-F
[ERiva K 4 & X 6 5 st 6 5 2nd 6 5
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1T K REF HAREY—Fr)—H& 360 19 34 186 11 19 1756 8 15
2 L mdH HEBEXRT—Fr)—iHs 344 17 29 179 10 16 165 7 13
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